
  

1)  #2 Schreckenbach 1. Bc4!  

 wrong keys: 1. Bg4? 8x, 1.Rd8? 8x, 1.c4? 4x 

2) #3 Bron 1.Re7!  

 wrong keys: 1.Sb5? 7x, 1.Bd2? 5x, 1.Rc7? 4x, 1. Rxd6? 3x 

missing or wrong var: Qd3 61x, Qe4 42x, Rxe1 39x, Rd3 35x, g5 35x, Re4 29x, Be4 27x, 

thr. 7x 

3) #4 Faizulin 1.Se3! 

 wrong keys: 1.Qh2? 12x, 1.Sf4? 11x, 1. Bxe5? 10x  

 missing or wrong var: Kf4 18x, Ke4+2.~ 14x, Ke4+2.Kf4 10x, e4 9x, Kg3 9x, f4 3x  

4) = Minski 1.f4!  

 wrong moves: 1.f3? 11x, 3.Bh3? 18x, 4…Bb5? 6x, 6…Ke1,Kxf1? 29x   

5) H#5 Gschwend a) 1. Se6, b) 1.Qxd2 

  14 solvers with 1 sol: a) 7x, b) 7x  

6) S#3 Lender 1.Sb5!  

 wrong keys: 1.Sc6? 6x, 1.Sxe6? 4x 

 missing or wrong var: Qc8 13x, Bc4 11x, Bc3 6x, thr. 2x  

  



7) #2 Murashev 1.Rc4!  

 wrong keys: 1.Qxd3? 4x 

8) #3 Myrhe 1.d6!  

 wrong keys: 1.Sef5? 5x 

 missing or wrong var: Rb4 69x, d3 36x, thr. 17x, Sd6 5x, Ld6 4x,  Rb4 +2.Sf5(?) 23x 

9) #8  Böttger 1. Bg3!  

 wrong keys: 1. Sd8? 18x, 1.bxc3? 6x, 1.Bf2? 6x 

10) + Gurgenidze 1.Rh4+! 

 wrong moves: 1.g7? 6x, 1.b8Q? 5x, 1.Rb4? 4x, 1.Rg5+? 4x, 3.b8R? 3x 

11) H#3 Gershinsky 1.Rf1 1.Kd4  1.Kxc5  1.cxb5  

 41 solvers with 4 sol 

40 solvers with 3 sol 

32 solver with 2 sol   

18 solvers with 1 sol   

all solutions with Rf1 86x, Kd4 119x, Kxc5 77x, cxb5 84x 

12) S#4 Kozyura 1.d7!  

 wrong keys: 1.Be6? 16x, 1.Bh6? 7x  

 missing or wrong var: Bc4 15x, Bd5 9x, gxf6 6x,  Bc4…4.Qb7?  7x 

  



 

1)  #2 Trzesowski 1. Qg8!  

 wrong keys: 1.Qe8? 40x, 1.Rc3? 9x. 1.Qb8? 9x 

2) #2 Mansfield 1.Rc5!  

 wrong keys: 1.Ra5? 52x, 1.Rxh5? 6x, 1.Ka2? 5x  

3) #3 Rehn 1.Ba7!  

 wrong keys: 1.Bxg6? 15x, 1.Bf3? 13x, 1.Bd4? 9x, 1.Se4? 7x, 1.Sf5? 6x 

 missing or wrong var: Sf8 25x, Sh4 25x, Sh8 24x, Se7 18x, Se5 12x, Sf4 10x, thr. 4x 

4) #5 Rozenfels 1.a4!  

 wrong keys: 1.Rd1? 50x, 1.Rc1? 8x  

5) +  Melnichenko 1.Bf5+!  

 wrong moves: 1.Kxf2? 5x, 1…Kh2? 26x, 2.Sg6+? 17x, 4…Kh5? 7x  

6) H#2 Chumakov  Bd2, Bf7, d3, g4, h3  

 4 solvers with 5 solutions 

 10 solvers with 4 solutions 

7 solvers with 3 solutions 

 22 solvers with 2 solutions 

 22 solvers with 1 solution  

 all solutions with Bd2 39, Bf7 37, g4 34, d3 23, h3 14   



7) #2 Murashev 1.Qc1!  

 wrong keys: 1. Qe3? 25x, 1.Re3? 20x, 1.Sb4? 8x, 1.Qg8? 6x 

8) #3 Ekestubbe 1.Kg3!  

 wrong keys: 1.Sb7? 6x, 1.Sa6? 6x 

 missing or wrong var.: Bc4 24x, Bc6 17x, Qc6 12x, Qb5 9x 

9) #3 Bron 1.Bd5!  

 wrong keys: 1.Bf1? 27x, 1.Bf3? 24x, 1.exd8D? 14x, 1.Qe5+? 12x 

 missing or wrong var: f3 5x, cxd5 3x, thr. 3x 

10) #4 Zajic 1. Se4!  

 wrong keys: 1.Sb7? 19x, 1.Sd7? 6x, 1.Se6? 5x 

 missing or wrong var: Sb3 8x, Sd3 8x, thr. 1x 

11) = Bondarenko, Kakovin 1.Rb4! 

 wrong moves: 1.Bh5? 23x, 1.Ba4? 15x, 1.Bg4? 8x, 1…Sxc3? 5x 

12) S#2 Ekestubbe 1.Qa8!  

 wrong keys: 1.Qh4? 5x, 1.g8Q? 4x 

 missing or wrong var: exf5 25x, Sc3 16x, Sc5 6x, thr. 2x      

  



 

1)  #2 Freimann 1.Qe1!  

 wrong keys: 1.Qf4? 20x,  1.Sc6? 18x, 1.Kd6? 6x, 1.Kf6? 6x, 1.Qg4? 5x 

2) #2 Grinchenko 1. Sd5! 

 wrong keys: 1.Sed7? 22x, 1.Bd7+? 19x, 1.Sd7? 18x, 1.Rxa5+? 14x, 1.Bxf7? 11x   

3) #2 Murashev 1. Qa2!  

 wrong keys: 1.Qf2+? 38x, 1.Rg6? 28x, 1.Bf5? 14x, 1.Sd6? 14x, 1.Qd2? 11x, 1.e6+? 9x  

4) #2 Hage 1. Bh8! 

 wrong keys: 1.Qb2? 21x, 1.Rf7? 18x, 1.Be5? 17x, 1.Qxb4? 16x, 1.Sxd2? 13x 

5) #3 Bron 1. Rd7!  

 wrong keys: 1.Qd4? 38x, 1.Qa7? 27x, 1.Qh4? 17x 

 missing or wrong variations: Kf8 5x, Kh8 10x, e3 2x, e5 4x 

6) + Bent, Whitworth 1. d7!  

 wrong moves: 1…Bb2+? 56x, 1…Sc5? 21x, 5.d8Q? 22x 


